Math 109            Quiz 10        11/30/06
1.  Find vertical and horizontal asymptotes of the following

    a.   
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   vertical   x = 4/3                        vertical  x = 1  and  x = -7
horizontal  y = -2                          horizantal  y = 3
2.  Draw rough sketch of what each the following looks like and note any asymptotes and intercepts.

a.  y = ax  where a>1.

b.  y = ax  where  0<a<1

See p. 194 for rough sketch of each type.  The x-axis is a horizontal asymptote for both types. (0,1) is the y intercept.
3. Use a calculator to find the following:

     a.  3.72.13        16.228
     b.  e-2.1                .122
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